This question consist of two words which have a certain relationship to each other followed by four

patrs of words. Select the pair which has the same relationship as

DISTANCE : MILE
Options:

1« liqud : latre

o # solid : colowr

= % weight : scale

4 # fame : television

Question Number : 73 Question Id : 8823 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.33
Which number would replace the question mark (?) in the series below?

PG 0 B 25 ¥ e T

Options:
1. % 51

o ® 34
2 v 52
4 % 4

Question Number : 74 Question Id : 8824 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
Which number 15 next in the series below?

4,5.10,.11,22,23, ..

Options:
1. % 32

> % 64
3 ¢ 46
4 % 60

Question Number : 75 Question Id : 8825 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
In this question, an alphabet series 15 given with one term missing. shown by (?). Choose from the

below options. the best choice for the missing term.

¥.B.1.602

Options:
1. % N

> ® M
s ¥ L
4 % K



Question Number : 76 Question Id : 8826 Question Type: MCQ Option Shuffling: No
Correct: 1.0 Wrong: 0.33
In a certain language. FIRE 1s coded as GISF. What will be the last letter of the coded word for

COAL?
Options:
1. % 0

> ® K
3 v M
4 % N

Question Number : 77 Question Id : 8827 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
If TRAIN 15 coded as RPYGL. then how will COACH be coded?

Options:
1. ¥ YAFMY

o % AFMAY
3 « AMYAF
4 % AYMAF

Question Number : 78 Question Id : 8828 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

Inn a certain language. if FELT 15 coded as EEKU. how will PORT be coded in that language?
Options:

1 « 00QU

- % 0QOU

= #% QOO0U

4 % QUOO

Question Number : 79 Question Id : 8829 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.33
Find the similanity in the series:

swimming. Diving, Sailing
Options:
1 " All are related to Water

o #% All are related to Winter activities
= % All are related to Rask
4 % All are related to Health

Question Number : 80 Question Id : 8830 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.33
Find the similanity in the series:

PQXZ. CQPN. PRMN
Options:



1 % All have letter Q in 1t.
- % All are starting with P.

% " There are no vowels.

4 % There 1s no similarity.

Question Number : 81 Question Id : 8831 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.33
Marv mtroduces Mark as the son of the only daughter of mv mother's husband. How 1s Mary related

to Mark?
Options:
1 % Grandmother

o # Niece
=« Mother
4 % Mother-in-law

Question Number : 82 Question Id : 8832 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.33
Ray told Chandani. “Your mother s husband’s sister 1s myv aunt”. How 1z Chandani related to Ra)?

Options:

1 # Daughter

= o Sister

= % Grand daughter
4 % Mother

Question Number : 83 Question Id : 8833 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
Neelu. who 15 Mohit s daughter. says to Bindu. “Your mother Eeeta 15 the vounger sister of my

father. who 1s the third child of Sohanyi”. How 1s Sohany related to Bindu?

Options:
1 # Maternal Uncle

2> # Father
=« Grand father
4 % Father-in-law

Question Number : 84 Question Id : 8834 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
Four emplovees Anil. Sameer, Navin and Varun. each have to perform duties at the airport on four

different days. Thursday to Sunday. Their duty schedule 1s as follows: Navin has his duty day before

Anil. and. Varun has his duty day after Sameer.

Which of the following can be a possible order of duty of the four emplovees?

Options:
1+ Navin, Varun Anil Sameer

- # Varun Navm. Amil Sameer

=z % Sameer. Navin, Varun, Amil



4 % Aml Navin Vamun Sameer

For the above question, User had specified 'ignore’ during keys upload.

Question Number : 85 Question Id : 8835 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

A situation is given. Use vour quantitative aptitude skills to find the best answer from the given

options:

My bag can carry no more than ten books. I must carry at least one book each of History, Science.

Math and Dictionary. Also. for every History book I carrv. [ must carry two or more Dictionary
ooks and for every Science book I carry. I must carry two or more Math books. [ earn 4. 3. 2 an

books and £ v S book I y. I 1 Math books. I 4.3 2and 1

points for each Historv. Science. Math and Dictionary book. respectively, I carry in my bag. I want

to maximize the powmnts. I can earn by carrving the most appropriate combination of books 1n my bag.
1e maximum points that I can earn 1s:

Tt points that I

Options:

1. % 20

o % 11

3 & 22

4 #® 238

Question Number : 86 Question Id : 8836 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.33

A person 1s travelling by car and the mileage 15 100 ml of petrol per km (Petrol costs Es. 10 per
litre). If a person travels from Delhi to Mumbai. what 1s the cost of petrol?

Options:
1. # Rs 1300

> # Rs 13555
3 # Rs999

4 " Cannot be determined

Question Number : 87 Question Id : 8837 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

In the following question. two statements are given followed by two conclusions (1) and (2).

Assuming the statements to be true. even if thev do not conform to the well-known facts. decide

which conclusion(s) logically follow.

Statements:

A Some actors are singers.

B. All the singers are dancers.

Conclusions:

1. Some actors are dancers.

2. All singers are actors
Options:
1 « Only conclusion (1) follows.



- % Only conclusion (2) follows.
= % Eather (1) or (2) follows.
4 % Neither (1) nor (2) follow.

Question Number : 88 Question Id : 8838 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

In the following question. two statements are given followed by two conclusions (1) and (2).
Assuming the statements to be true. even if thev do not conform to the well-known facts. decide

which conclusion(s) logically follow.

Statements:

A All the Guitars are wstruments.

B. All the instruments are flutes.

Conclusions:
1. All the flutes are mnstruments.

2. All the Guitars are flutes.
Options:
1 % Only conclusion (1) follows.

> o Only conclusion (2) follows.
= % Eather (1) or (2) follows.
4 % Neither (1) nor (2) follow.

Question Number : 89 Question Id : 8839 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

Rearrange the following jumbled sentences to make a meaningful one.

When he
P : did not know

(Q : he was nervous and
R : heard the hue and cry at midnight

5 - what to do

The proper sequence should be:
Options:

1 « RQPS

- % QSPR

=z % SQPR

4 % PQRS

Question Number : 90 Question Id : 8840 Question Type: MCQ Option Shuffling : No
Correct : 1.0 Wrong: 0.33



Rearrange the following jumbled sentences to make a meaningful one.

It has been established that

P : Einstein was
Q : although a great scientist
E. : weak in arithmetic

5 : right from his school days

The proper sequence should be:

Options:
1 # SRPQ

- « QPRS
o W QPSR
4 % RQPS

Question Number : 91 Question Id : 8841 Question Type: MCQ Option Shuffling: No
Correct : 1.0 Wrong: 0.33
Rearrange the following jumbled sentences to make a meaningful one.

Then

P : 1t struck me
Q : connected to each other
E : they were

S : how mdirectly

The proper sequence should be:
Options:

1 ® SPQR

- % Q5RP

= o PSRQ

4 % QPSR

Question Number : 92 Question Id : 8842 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33
The domestic expenditure i percentage terms of a family are: Travel 12%. Food 25%. House Rent

18%. Entertainment 9%, Child Education 23%. and Meadical 13%. If the total monthly income of the
family 1s Rs. 35250, then the house rent per vear 1s

Options:
1. % Fs99045

> # Rs. 113940
3« Rs. 119340
4 # Rs9495



Question Number : 93 Question Id : 8843 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

A bank offers 3% compound interest calculated on vearly basis. A customer deposits Rs. 1600 each
on 1% January of the first vear and 1 January of the next vear. At the end of the 2°¢ year, the

amount the customer would have gained by wayv of interest 1s:

Options:
1. % Fs 240

> # Rs120
z # Rs242
4 « Rs244

Question Number : 94 Question Id : 8844 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

The question below consists of a question and two statements, labelled (1) and (2). in which certain

data are given. Y ou have to decide whether the data given in the statements are sufficient for

answering the question.

Question: [s "X an mteger?

Statements:

1. X%isan integer.

2. 3X 15 an integer.
Options:

1 % Statement (1) alone 1s sufficient while (2) alone 1s not sufficient.
> «" Both the statements are required to answer the question.

= % Either (1) or (2) 15 sufficient.

4 % Neither (1) nor (2) 1s sufficient.

Question Number : 95 Question Id : 8845 Question Type: MCQ Option Shuffling : No
Correct: 1.0 Wrong: 0.33

The question below consists of a question and two statements. labelled I and II. in which certaimn data

are grven. Y ou have to decide whether the data given in the statements are sufficient for answering
the question.

Question: In which vear was Rahul bom?

Statements:
[. Rahul at present 1s 25 vears yvounger to his mother.

II. Rahul's brother. who was bom 1n 1964, 15 33 vears vounger to his mother.
Options:
1 # Statement I alone 15 sufficient while IT alone 1z not sufficient.

o # Statement I alone 1s sufficient while I alone 1s not sufficient.
= «" Both the statements are required to answer the question.

4. # Neither [ nor II is sufficient.

Question Number : 96 Question Id : 8846 Question Type: MCQ Option Shuffling : No





